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Question 9 [2 marks] Question 13 |4 marks)

- . 3 A highly volatile substance has an initial mass of 1200 g and its mass is reduced by 12% each second.
In triangle 4BC as shown, sin x = R

a Write a formula that gives the mass of the substance () at time (7) seconds.

b What mass remains after 10 seconds, correct to 2 decimal places?
What is the value of sin y.

c Calculate how long (to the nearest second) it takes uatil the mass is 10 grams.
Question 10 j4 marks]

A vertical mast, A2, of height 20 m is supported by two cables attached to the ground at C and B as shown in the
diagram, £CAB is a right angle. Cable CD is of length 40 m and cable BD is of length 30 m.

d After how many seconds ({o the nearest second) is the mass less than 1 gram?

What is the angle 4BC, to the nearest degree?

Question 11 [3 marks]

From a point on a cliff 400 m above sca level, the angle of depression to a boat is 30°. Find the distance from ihe Question 14 [1 marks]
fool of ihe ¢kiff o the boat.

The equation of the graph shown could be ¥

A y=24
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Question 12 [3 marks)

The diagram shows is a right square-pyramid of height 400 m with its base a square of side 300 m.

s= 0 2t
A y=2x2
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1f 0 is the angle between a sloping face and the base. form an equation which will give the correct value of 0.
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